
1. John buys these two items with a 50p coin.

What change will he get? 

Reasoning

Grammar and punctuations

Andy and Bob have 24 sweets in a jar. They want to split them 
so they have half each. How many sweets will they each get?

If Andy eats half of his portion of sweets. How many sweets 
he got now?

31       +  49   =    

- 27      =   15

82  - 10   - 10   =  

16   - 3   - 3 =  

¾  of  28   = 

¼  of  32   =  

8 X     5  =  

÷ 10   =   6     

Spellings

Arithmetic

1. Shopping
2. Behind
3. Pretty
4. Because
5. Gold

Tick the correct word to complete the sentence below. 
We were __________ on our topics. 

 Working
 Work
 Worked
 Works

Write one word on the lines below to complete the 
sentences in the past tense.

I __________ to Paris during the summer holidays.

He ___________ delicious food at the restaurant.  
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2. The pictogram shows the number of times children have won 
in sports.

16 pence
22 pence

Who won the most cups? 

How many times Bob and 
Jane won altogether?

Who won the least cups ?

How many more did Sara 
won than Andy?


